Summer Week 1 - Maths Lesson 1
Can | solve 3d + 3d?

Red:

1) 111 + 603 =

1) 883+ 110 =
2) 583 +211 =

2) 206 + 546 =
3) 278 + 621 =

3) 757+ 112 =
4) 197 + 602 =

4) 648 + 300 =
5) 582 + 203 =

5) 729 + 248 =
6) 500 + 359 =

6) 757 + 324 =
7) 882+ 110 =

7) 316 + 545 =
8) 202 + 546 =

8) 739+ 822 =
9) 757 +112 =

9) 345+ 879 =

10) 638 +100 =
10) 797 +989 =

1) 222 + 615 =

2) 589 + 211

3) 278 + 621
4) 197 + 602 =
5) 582 + 203 =
6) 500 + 359 =
7) 883+ 110 =
8) 206 + 546 =
9) 757 +112 =

10) 648 + 300 =



